Wiring and Hydraulics



1 -3 10.1 - 02.2003

Elektrik-Schaltplan/Schéma électrique/Wiring diagramm/Elektrisch schakelschemal/Elektrisk kopplingsschema

6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
[

TEtneE R el %
LTI =

3 W T |
| =

=

w

a

S

S

S

So—r
—o So——

SoF—
o S

x‘f&m é !1 w& A :_&_1
Q lL

—D
—0
—D
*a'D
o B
— Sor
e 2

oW ————m -
* L7 24
03
6 DS6
Ell |
< 4 fbil v
h _ !'\. ole| (@|e] (@[] @]9 (@0’ (@]e|e]® ej[o%l e|® ]>i i i i
l ~— — et ¢ - ~— l L J L
55 54 53 525150 49 48 47 46 45 44 43 42 41 40 39 38 37 36 35 34 3332 31 30 29 271 26 25
TS1 DS2 DS1 DS3

Y6 Y0 Y7

10-1 S150/S151/S152/2152




10.1 - 02.2003 Elektrik-Schaltplan/Schéma électrique/Wiring diagramm/Elektrisch schakelschemal/Elektrisk kopplingsschema 2
59 60 61 62 63 64 65 66 67 68 72 73 74
30 | \ \ ANEIEA / | | | [ / |
== F — [ ] / / |
58 | \ \ \ \ | | [ | | | / [
K2 K3 K4 K5 6 8 9 2 1 % ! 7.5A I
\ el = —L r’ r’ ' ,
Lfg_+ 45‘1.%3 4‘5_1—§2[3 {5‘:%3 5@'3 45}?%3 4217%3 5 12 3 ® @ @ ® E
TR VIR TR T |+l
] i - T i
3% S —
E<E i B i
<l 5,::2 %’
< 57 & ® &
] !ég%‘(i
'——"'——'E_gizg K14 75
12 =1 l—’ﬂ ’J—l&m
QQ_..{W ggl’%; iij }‘E_‘ ; @I_‘ L
90 LS T
= G
_bBBEBED f% w%s%@%} b ﬂ/ﬂ ﬁ 5 5 / 5B ® 5e B B
3/8-9-10-11-12-13-14 1234567889 2/6 25/11-10-8 2/5 9/14 10/12 9/15 10/14 3/5 9/12 -13 10/3 911
eeRRaea LﬁTﬁ%%%?%?; a JE & =] 8 8 =] g 8 8 g =
ML :
ootnnettedsl | gg T
89 LFIRRTRATRARY
rooonnn
By r
[ E 4r——l
l !\'3 b | e
] e E 1Y%
G
n SAREAREAIFAIE Y R e | okl o
86 85 84 83 82 8180 79 78 77 76
G2 Y5 Y3 Y2 Y4 Y1 DS4 DS7 Y9 VY8
S150/S151/S152/Z2152

10-2




- 3 10.1 - 02.2003 Elektrik-Schaltplan/Schéma électrique/Wiring diagramm/Elektrisch schakelschemal/Elektrisk kopplingsschema

91 92 93 94 95 96 97 98 99 100 101 102 103

|

|

: 5 |

e e }
—~J] m@ i 5 ®10 fi 5 5P q 0{2/ gg""“hv

w@ G

I
g}b —Jjie
113
gav | 6/
Eﬁ. /1 2v E ""H‘gﬁ@p—i"*'
[
T iy
7}5—?13 S/Ef;g 3}7; 7)? 0%-51?1 2 7113 22?-&1-3?4? T ISl 7/%! 7Iz1§ 5 7}55 9/%;4?
Bea 2 8 =t={=} a oo & 8 =] 8
ggg 1en?-11g2 1?/13 16/8 16/9 1}36 251
[fain] EEIE] & & g A il
112 106
A i
'_};: M M ’E N A I R INVE !
<f) <@> <® Q)Mfgfﬁii TR ALY i
T P=Np=N -
120 119 118 117 116 115 114 11 110 109 108 107 105 104
S150/S151/8S152/Z152

10-3




AMLMANKN Wiring and Hydraulics 10

10.1  Wiring Diagram

Pos. Name

01 Starter button

02 Relay: Starter cut-out

03  Fuelfill-level display

04  Cooling watertemperature display
05  Tachometer

06 Operating hour counter

07  Actuator: Working floodlights

08 Fuse (Chapter 4.9 Pos. 17/13)

09 Fuse (Chapter 4.9 Pos. 17/6)

10 Fuse (Chapter 4.9 Pos. 17/7)

11 Actuator: StVZO-Beleuchtung

12 Indicator pick-up

13 Actuator: Hazard Warning Lights
14 Fuse (Chapter 4.9 Pos. 17/10)

15 Fuse (Chapter 4.9 Pos. 17/2)

16 Fuse (Chapter 4.9 Pos. 17/9)

17 Fuse (Chapter 4.9 Pos. 17/8)

18 Fuse (Chapter 4.9 Pos. 17/3)

19  Actuator: Quick coupler release
20  Actuator: Loaderarm cushioning
21 notused

22 Relay: Loader arm cushioning

23  Relay: Accoustic warning

24 Pressure switch: Overload loader arm cushioning
25  Accumulatorvalve: Loaderarm cushioning
26 Valve: Pipe burst protection/Loader arm cushioning (opt.)
27 Combi-valve

28  Socket 7-pin front

29  Valve: Quick coupler release

30  Adapterforsocket 7-pinrear

31 Number plate lighting

32 Markerlamp right

33  Markerlamp left

34 Tail light unit right

35  Tail light unit left

36  Indicator/markerlightright

37  Indicator/markerlightleft

38  Drivinglightleft

39  Drivinglightright

40  Additional brake light

41 Brake light switch

42  Signalhorn

43  Working floodlight back

44 Working floodlight front

45  Switch: Hydraulic oil filter

46  Switch: Cooling watertemperature
47 Switch: QOil pressure

48  Switch: Cooling waterfill-level

49 Switch: Service brake malfunction
50  Switch: Hydraulic oil temperature
51 Cooling water temperature pick-up
52  Plunge tube pick-up

53  Alternator

54  Startermotor

55  Battery main switch

56 Batteries

57  Serviceinterval pick-up (opt.)

58  Warningindicators

S150/S151/5152/S153/S154/2152 10-1



10

Wiring and Hydraulics

AULMANN

Name

Diode combination (only fast-runners)
Pulse generator indicator light unit gear selector
Relay gear selector (only fast-runners)
Relay gear selector (only fast-runners)
Briicke gear selector (only Langsamlaufer)
Relay gear selector (only fast-runners)
Relay gear selector (only fast-runners)
Relay gear selector (only fast-runners)
Relay gear shift switch

Relay 1st gear

Relay power control forwards

Relay power controlreverse

Relay drive breaker

Indicator light unit gear selector

Fuse (Chapter 4.9 Pos. 17/1)

Push-button gear shift selector slow/fast (only slow-runners)

SchrittschaltRelay (only slow-runners)
Valve 1stgear (only slow-runners)
Valve 2nd gear (only slow-runners)
Switch: Relase gear selector (only slow-runners)
Switch: Parking brake

Reverse warning pick-up
Valvereverse travel direction

Valve travel direction recognition
Valve forward travel direction

Valve 1stgear

Valve gear shift switch

Rev pick-up

notused

Revevaluator

Multi-purpose lever right

(Valve pick-up for main hydraulics)
Accousticwarning

10-2

S150/8151/S152/2152



AULMANN

Wiring and Hydraulics 10

Pos. Name

91 Interval pick-up

92 Fuse (Chapter 4.9 Pos. 17/11)
93 Acuatorinterval wipers front
94  Acuator screen washer front
95  Acuatorwiper/washerback

96  Acuatorrear screen heating
97 Fuse (Chapter 4.9 Pos. 17/5)
98 MaxiFuse (40 A)

99 Fuse (Chapter 4.9 Pos. 17/4)
100 Socket dashboard 2 pin

101  Fuse (Chapter4.9 Pos. 17/14)
102  Acuator 360° lamp (opt.)

103 Fuse (Chapter 4.9 Pos. 17/12)
104 Valveengine cut-out

105 360°lamp (opt.)

106 Switchinteriorlighting

107  Interiorlighting

108 Radio(opt.)

109 Pressure switch (filter air-conditioning)

110 compressor (air-conditioning)
111 Fanmotor (air-conditioning)
112 Air-conditioning (opt.)

113  Transformerradio

114  Heated mirrorright (opt.)
115 Heated mirror left (opt.)

116 Rearscreenheating

117  Motor wiper back

118 Motor washer back

119 Motorwasherfront

120 Motorwiper front

Opt. =Optional equipment

NOTE

juud @

hydraulics plan.

MaxiFuse wechseln (Pos. 98):

The item nos. printed in bold type in the wiring diagram are cross-references to the interface in the

Should it be necessary to change the fuse for the air-conditioning system, the dash board cover must be removed

first.

NOTE

[
1 After removing the dash board cover, the fuse is accessible in the front area near the front screen.

S150/8151/S152/2152

10-3



10.2.1 - 04.2001 Hydraulics Diagram AS 150 (bolt lock) Type "20 km/h" and "25 km/h"
6 78 9 10 11 12 13 14

o \ o o [Y50 |
..... _] r_-ﬁ\___‘ .-.-—--.] -
& UL anl |l

@z L v __ i ol _‘ﬂm m/z;_ i il
1
Anschluss an Pilot- \r-od====
druck Auskippen  Mmil ropke
$ Y6 Erin,
L— b
Anschluss an '

Pilotdruck Senken | Anschluss an

Speisedruck
-
GIa|lGIa GIe|lGIE GI|(G I S
ALl |8 A3 {m3 A2 (@2 At| 816 3
—_—— 1270 —_—
Mo o © © 0 j
| FOH 8 HoH e o P e
arh,mw (270 bor | 300 noc] 1270 bor! 1300 bar| 270 bor h p1153u
1 e
7T i e Tt B e e o A et A 230+5 bar| | G4
"o T O — O —_ -
LIRN i = DR —+ |- — 41
[ & in

YT x1

1 9
47—z o o o R p—
QEGUE | GV Gk~ — = —  — e GVE GV | | | GY4" GUL
Pra ¢4 ta r1l Fahrtrichtung r‘,: T — 1
! ! N !

I [ N ﬁj Y1/B4/rot _, X2/A3/grin
’. 1 !
46 \L ‘

sl

l
|
[ -;-%*‘_ “'J_,,‘_,JI X1/Ad/blau

X2/A1/weill

X2/B1/gelb

N Y1/B2/braun

o
o
>
=
)
m
S
R
<
X

1/A2/schwar:

Abschaltdruck 150 bar DS7]

_.O_]
B
g |

i

|

|

|2 -
8 | KHD BF4M
!g [ 2012 £C
Fa by ’ 96 KW
| 3 2 | 2300 1/min
s (3]
X Gauge part

\T' / / s \ \ \ —=—+—Optional equipment

10-4 34 33 32 31 30 29 28 27 26 S150/S151/S152/Z152




10.2.2 - 04.2001

Hydraulics Diagram AS 150 (bolt lock) Type "40 km/h"

6 78 9 10 11 12 13

Frrd\

..... =7
e e

+

36 — |

Y Jan

Anschluss an Pilot-
druck Auskippen

Anschluss an
Pilotdruck Senken

s [Y50 \
_____ 1
w2 | L

Anschluss an

(M. = el | l"._c I=; .
i

Speisedruck T

A3| | B3
 ——— e ———

G¥e GXW4||GI4 GIL||C V4

L
— f ey

=il ey oo — — — — — —
4 e 7e s v F1]
L 4 [ 1
oL I 1 I
2l 46 — | I
P L_ LL.,~.-.-.—_|_! H
1§ $
! pen 45
o o Nlmwas
Einschaltdruck 120 bar l
Abschaltdryck 150 bar,

e e e —— — m—— e

b

30 bar !
_.__1__1

YAlF & ‘“i—
]
=
H
| ppi—
redtey B
)
P=480:7 bar

2300 1/min

’ |
KHD BF4M l .
2012 EC s
96 KW [T f

X Gauge part

--— Optional equipment

v :
/ VA S—
10-5 35 34 33 32 31 30 29 S150/S151/S152/2152




10.2.3

— \
//-l—\\> S Sz |&12 I’Eﬂ FQIET\ 304*-16UNF 4"-16UNF
! a — |

_{_'_ l__) i T ezl _~v_ || ¥ _ | Gml_ sl LY e
&
| > 12 [Y504] T
\ \'L':’ﬁ—'—‘:é]fwz Eg :ms;hluﬂ& an Pilotdruck i, = o] |Ll
o uskippen H ?
—o— 1 e
=X — LBIF | P ot
PIT 5 -0 D) —
Gl | Anschius en £ e C ) e
L Pilotdruck Senken . Spsisedruck o iy
SHILI | ? 071
3 8 DS6 § F
240
Ga8| |Gam |1
S g s H —
G34| |Gan G4 | |G3s G34| |G © = =
— a4l |Ba As| | B3 a2l |82 Al
| 300 300 5 0 M16x1,5
? . 11" ] — - — — —
e M10x1 | M18x1,5
49 L H HH iy 39 | )
L - — —1 — 240
HPCO ﬁ/ @4" 73| 270 bar| (270 bar| |300 bar| | 270 bar| | 300 bar| |270 bar l_ P1 | G3/4 | _@'
L - | l .
() — | I [ I I R I A A I S R == 240 240
_| “otie]_ r - - _ 2obar| gug |
i | 612 Teuar I B T 1 | =
— G4 = '
220-5 bar I I | I M10x1 | s —=;
' |
— \ G1" T1 | ! 18x1,5
© ! | |
. | |
s 4 8 | | | ) i)
ar
[vs14]) 240 R
AN b ] | | J ton
= LejIL} : N
N /D | [Ds4 4] | wi2xi.5 M3 I 0 ; - .
q@._ o [ps4 4] Tlurexts OUE T e — | ca i | J\ o—
¥ ¥ é: w145 [F3| T2 R iaxis ' —Iy =1 - = = - = —'_—|_ o4 ‘
= = f@ — v = = = = = = =
A [ | [F |
47 Ix \ x2 vy - - - - = = = vz Txa
100*10 bar el e e ey — — — — — — — — — — |G14" G1ar| | G1s” G1I4l|
2 .a -
2@ =@ @s I L T |
Fahrtrichtung Flohns I |
(n/ Y1/BA/rot Y1/B2/braun | | o
F_R2 | a 2 5 2 [ E—
M10x1|_|M141x11,5L 3.8 bar | I T g g i( po
0 _—|-|— = = B @
< < a 2 8 - —@—
ﬁr W10t 46 T 7d; Il 8 g g g _'T'__ I // 42 r G?M_ Ls
?l Iﬂ Ti WM14x15 | _I —_ — I X1/A4/blau X1/A2/schwarz | e — — | I
: —| == — —| —
Gl P | TG4 G4 P |T 73
@ T%—Xm% bar O }%O/— 43 I
g [T2 Tmiaxs 45 (g t
— M18x1,5 20 bar
| x | [ve 4] [ve4] !
Einschaltdruck 120 bar 44 G314
Abschaltdruck 150 bar ﬁz —
G4 1EG1/4 . -
| +—Gob) = ST I— — G |*I'|>:|‘
, 071 PF={A |
[ - G4 7 a1 o G S
1,0mm | * 3 = q
14 2 _E —_
— 1=55°C
e | X
3 bar X | X 2 zas
b s — &
. | T £
= M26x1,5 I L L [Je MB | X
= _
mé £ : 1 |
3E 14 PEES - H SAET Y4 bestromt
Es 2.5 bar s |Z = | bei vorwérts/neufral M18x1,5
¥ (] (0] (0] J I _l 2
e T IxwCEEIEENE > — ! | H 2 2 1
g M10x1,5 § I R 3 :
e E§ KHD BF4M 2 P=480£10 bar e e Pl | T
| & g2 2012 EC ] | | I za\ =
=R 98 KW V\ | | [ . )
a | 2300 1imin L | s s
5 3 | | P=480210 bar | VA | —
2 =3 |
- 2 “ —L & U [T
& e, | | | 2 w w [ Migxt5
2ok g | | L P
s g P=2742 bar A s s
- E ™
/ s | | AIXUIY 1/b=Riickwarts IR
8 X1 X2 BIX2/Y2/a=Vorwénis
R M26x15 |[Mi6xi5 | Mi6xi5 ma |
w |1 Wd2x2 M12x4,5
i X X )| X S
: \ \ -
/ / | \

10-6

2

G3/8"

i
F
~N
ﬁ = | [eam

4 5

6

5%

- 01.2006 Hydraulics Diagram AS 150 (claw lock) Type "20 km/h"
7 8 9

10

(N

33

32

21

e 23
/

X Messanschluss

Sonderausstattung

S150/S151/S152/S153/S154/2152




10.2.4

- 01.2006 Hydraulics Diagram AS 150 (claw lock) Type "40 km/h"
10

1

2

6 7

8 9

16 ———> 17 18 ——5

B B n— M M
15 \ & 6 (]/ G172 \ G2 \ \ G112 g{&
"\\ R \ \\
M e\ Bl ol [l \ lel]| [T
_{;._ l__) & =T | [vs3d] = | = | 4
\ ! /\ 7 [y I ey ezl _v__ || ¥ _ e 61/2 l_ _v_ ALY e
&
| > G112 . [v504] —] {
\‘ H '/._._‘:é]fwz A Anschlu an Pilotdruck @‘ fou)
\-L—j- —O—— lely Auskippen H Y584 ? |L'
Hm i ey »c‘m-%
Gae | [Gare" E[XPI- i — 1 £ o o7l S ——
'{ID’ Anschluf an | Anschluf an E foul r C——:) M16x1,5 | | M16x1,5 C—
F T | Pilotdruck Senken ., Spsisedruck 2 ? U Gop ry
8 B
071
%ﬁ o 19
39 DS6 § P
240 |
can| oo PIP el o
G34| |G34 G34| |G G4 |G3M © o Ls
300 | — 300 A4 |B4 A3| |Bs A2 |82 A1) [B1 Gan AN
- M16x1,5 | | M16x1,5
/ ? 50 o] PEIDG e — - — - -
g g‘ Q Q e M10x1 | M18x1,5| [M18x1,5 20
38 L Eel | 49 —_| —_| — | _ 40 | T all= __/
. HPGO %5/ |+ 1° [73| 270 bar | [270 bar| | 300 bar| |270 bar| |300 bar| |270 bar T p1l a3 | _@'
il = | | I
©3/8 — o - ] - = e - = 240
% T em | [T - _ 280eBbar | i giur | e -@'
i | 12 T8 I~ Toua I R A A P _ I | = j
— G1/4" i o H
220°5 bar | | | | Mioxi|s =L
| 61" {T1 I | l LR
- M18x1,5| [Mi8x1,5
37 \ d | | | | 41
—
|l I ; Z Gi/2 612 2 1
20 bar | 48 | ! /
\ o—p /// | | | | | = | [vsd L 240 R A
N @-- A et [wrzaslus | Huseas [ I3 :I-G:m. — 1 GiiF, " e | —_;‘-'|\
Zﬁ I NiT4x1,5{Fa| T — - — vs6h i L - — - - — — i = | ] 42 o—
M14x1,5! ﬁﬂ X1, P|M14x1,5 | |_ —| _ + J | '_—| "ﬂ — y -
= L) - = = = — — T —
W ] | ] IF |
47 X1 Y1 x2 N - - - - = _| T vz x| In X1
100210 bar |G14" Gl4| |61 Gl — — — — — — — — — — — |G14" 614" | G4 G/ |
@) -([@ (a-
:.‘@ '; :.‘ + - F - Fahririchtung Fiohne }- | |_l | ! I
Y1/B4irot Y1/B2/braun | I (
R| |F RZL rn/ | § 2 § § I | fi |
miox1|__|m14x1,50 [R1 3.8 bar | : s 3 = i( pn
w = = = =
xl M10x1 46 — | I"]\;___” R s R s - 43 O hs™ — 7 _@_
8 T | | // G4
= I Ti | | X1/A4/blau X1/A2/schwarz ||_ | ciele 1|ein 22
P . T1 [M14x1,5 iy i =0 0| = 4
! 1
i ] G14" P |T G1/4" G14" P |T G1/4” ,
@ hoxt — X 40+5 bar ) Q 44 I
= [F| (g %/
§ T |72 Toit4xt,s 45 I
/—/ N |M18x1,5 | | I
Elnschaltdruck 120 bar
36 Abschaltdruck 150 bar | ggﬁl / 23
I 11—
KWK AT I 614 | LS 11
| — — ML | =<
) LLK | A
I———————————————-—————————————— _"<I)‘I_‘ G1" P | G3/4
—l 1,0mm <I>| 61" 3 2 q
| s [V g z_E' ——
- —
. =55° \
i T | w X 100°C 2 4
3 bar X | 2l | ¥ 9w M2xd,s
b @ M10x1 5 X_ E X
2 T2 | PS s
% 11 com/U M26x1,5 I L L _l |_ G ME | X
@5 - - |
gé . % - X H T | B Y4 bestromt
o=} I = = * (SAE 17 " bei vorwérts/neutral M18x1,5 | T
i &8 2,5 bar o |® © I | . | SAE 1 25
¢ ] [ Jhz S 2 I I@ | 2 2 2 T /
g = — = E 1 g E E —
2 Uy Timtox .5 s e s 4 o
e E§ | | KHD BF4M B P=480£10 bar R Pl & p| %
Eg 2012 EC | | (’
[ é 22 98 KW = L™\ '
=4 V\ | | [ N> in
. | 2300 1/min & | s s T 10 Limin
k- > | | P=480210 bar I vA AR |
- g ” iy U G|t
2 es‘ . l l @ I'EEM | 2 SAE1"| [ M14x15 [MiBxi,5
Y g | | oo & s
£ g P=272 bar A =
=]
=/ 2 I I AIXY/Y1/b=Riickwarte I Jisaz 1
xi x2 B amvormdrs X Messanschluss
R M26x1,5 |Miexi5 | Mi6xi5 MA|
w [T M42x2 M12x1,5
2 | X X s| X
% : —~—~— Sonderausstattung
L T\
/ / | \
| \ \

10-7

34

33

32

31

26 S150/S151/S152/S153/S154/2152




AMLMANKN Wiring and Hydraulics 10

10.2 Hydraulics Diagram
10.2.1 Hydraulics Diagram AS 150 (bolt lock) Type "20 km/h" and "25 km/h"

Pos. Name

01 Swivel cylinder DW 100/45/785/1095
02  Actuatorsupport

03 Leak free lock

04  Supportcylinder EW 60/210/518

05  Storage facility pipe burst protection (opt.)
06 Locking cylinder DW 80/60/377

07  Auxiliary hydraulics right circuit

08  Electro-hydraulic lock quick coupler
09  Tiltcylinder DW 90/55/540/964

10 Pipe burst protection tilt cylinder (opt.)
11 Combination valve RBS/HWF (SA)

12 Liftcylinder DW 100/60/704/1146

13 Drop limiter valve (AKE) (opt.)

14 Pipe burst protection lift cylinder (SA)
15  Loaderarm cushioning (SA)

16 Auxiliary hydraulics left circuit

17  Steeringcylinder back GDW100/50/180
18  Steeringcylinderfront GDW100/50/180
19  Steering mode switch valve

20 Blocking valve (opt.)

21 Steering unit 240/100 cm?3/U

22 Combi-cooler/oil side

23 Priority valve

24  Temperature control (55°C) (opt.)

25 Drive motor A6VM 107 HA1R2

26 Idle gear

27 Campump 16 cm®U

28 Cam pump 38 cm?/U

29 Drive pump A4VG 90 DA2D8

30 Drive motor

31 Suction filter

32  Combined suction return filter

33  Electrical contamination display

34 Hydraulic oil reservoir

35 Central braking unit (opt.)

36 Multiple disk brake

37 Directional control valve 1-way

38 Hydraulic swivel limiter (opt.)

39  Directional control valve 4-way

40 Lift height limiter (opt.)

41 Hydraulic tilt inhibitor (opt.)

42  Pilot pressure initiator main hydraulics
43 Stop valve main hydraulics

44 Hydraulicgearchange

45 Stop valve auxiliary hydraulics

46 Pilot pressure initiator auxiliary hydraulics
47 Hydraulic tilt inhibitor (opt.)

48 Parking brake valve

49 Pressure cross over

50 Pressureless return circuit (opt.)

S150/S151/5152/S153/S154/2152 10-4



AMLMANKN Wiring and Hydraulics 10

10.2.2 Hydraulics Diagram AS 150 (bolt lock) Type "40 km/h"

Pos. Name

01 Swivel cylinder DW 100/45/785/1095
02  Actuatorsupport

03 Leak free lock

04  Supportcylinder EW 60/210/518

05  Storage facility pipe burst protection (opt.)
06 Locking cylinder DW 80/60/377

07  Auxiliary hydraulics right circuit

08  Electro-hydraulic lock quick coupler
09  Tiltcylinder DW 90/55/540/964

10 Pipe burst protection tilt cylinder (SA)
11 Combination valve RBS/HWF (SA)

12 Liftcylinder DW 100/60/704/1146

13 Drop limiter valve (AKE) (SA)

14 Pipe burst protection lift cylinder (SA)
15  Loaderarm cushioning (SA)

16 Auxiliary hydraulics left circuit

17  Steeringcylinder back GDW100/50/180
18  Steeringcylinderfront GDW100/50/180
19  Steeringmode switch valve

20 Blocking valve (opt.)

21 Steering unit 240/100 cm?3/U

22 Combi-cooler/oil side

23 Priority valve

24  Temperature control (55°C) (opt.)

25 Drive motor A6VM 107 HA1R2

26 Load switchgear

27 Campump 16 cm®U

28 Cam pump 38 cm?/U

29 Drive pump A4VG 90 DA2D8

30 Drive motor

31 Campump11cm?/U

32  Suction filter

33  Combined suction return filter

34 Elektrical contamination display

35 Hydraulic oil reservoir

36 Central braking unit (opt.)

37  Multiple disk brake

38  Directional control valve 1-way

39  Hydraulic swivel limiter (opt.)

40 Directional control valve 4-way

41 Lift height limiter (opt.)

42 Hydraulic tilt limiter (opt.)

43 Pilot pressure initiator main hydraulics
44 Stop valve main hydraulics

45 Stop valve auxiliary hydraulics

46 Pilot pressure initiator auxiliary hydraulics
47 Hydraulic tilt limiter (SA)

48 Parking brake valve

49 High pressure crossover circuit

50 Pressureless return circuit (opt.)

S150/S151/5152/S153/S154/2152 10-5



AMLMANKN Wiring and Hydraulics 10

10.2.3 Hydraulics Diagram AS 150 (claw lock) Type "20 km/h"

Pos. Name

01 Swivel cylinder DW 100/45/785/1095
02  Actuatorsupport

03 Leak free lock

04  Supportcylinder EW 60/210/518

05  Storage facility pipe burst protection (opt.)
06 Auxiliary hydraulics right circuit

07  Locking cylinder GDW 63/40/70/382
08  Electro-hydraulic lock quick coupler
09  Tiltcylinder DW 90/55/540/964

10 Pipe burst protection tilt cylinder (SA)
11 Combination valve RBS/HWF (SA)

12 Liftcylinder DW 100/60/704/1146

13 Drop limiter valve (AKE) (SA)

14 Pipe burst protection lift cylinder (SA)
15  Loaderarm cushioning (SA)

16 Auxiliary hydraulics left circuit

17  Steeringcylinder back GDW100/50/180
18  Steeringcylinderfront GDW100/50/180
19  Steeringmode switch valve

20 Blocking valve (opt.)

21 Steering unit 240/100 cm?3/U

22 Combi-cooler/oil side

23 Priority valve

24  Temperature control (55°C) (opt.)

25 Drive motor A6VM 107 HA1R2

26 Idle gear

27 Campump 16 cm®U

28 Cam pump 38 cm?/U

29 Drive pump A4VG 90 DA2D8

30 Drive motor

31 Suction filter

32  Combined suction return filter

33 Elektrical contamination display

34 Hydraulic oil reservoir

35 Central braking unit (opt.)

36 Multiple disk brake

37 Directional control valve 1-way

38 Hydraulic swivel limiter (opt.)

39  Directional control valve 4-way

40 Lift height limiter (opt.)

41 Hydraulic tilt limiter (opt.)

42  Pilot pressure initiator main hydraulics
43 Stop valve main hydraulics

44 Hydraulic gear shift

45 Stop valve auxiliary hydraulics

46 Pilot pressure initiator auxiliary hydraulics
47 Hydraulic tilt limiter (SA)

48 Parking brake valve

49 High pressure crossover circuit

50 Pressureless return circuit (opt.)

S150/S151/5152/S153/S154/2152 10-6



AMLMANKN Wiring and Hydraulics 10

10.2.4 Hydraulics Diagram AS 150 (claw lock) Type "40 km/h"

Pos. Name

01 Swivel cylinder DW 100/45/785/1095
02  Actuatorsupport

03 Leak free lock

04  Supportcylinder EW 60/210/518

05  Storage facility pipe burst protection (opt.)
06 Auxiliary hydraulics right circuit

07  Locking cylinder GDW 63/40/70/382
08  Electro-hydraulic lock quick coupler
09  Tiltcylinder DW 90/55/540/964

10 Pipe burst protection tilt cylinder (SA)
11 Combination valve RBS/HWF (SA)

12 Liftcylinder DW 100/60/704/1146

13 Drop limiter valve (AKE) (SA)

14 Pipe burst protection lift cylinder (SA)
15  Loaderarm cushioning (SA)

16 Auxiliary hydraulics left circuit

17  Steeringcylinder back GDW100/50/180
18  Steeringcylinderfront GDW100/50/180
19  Steeringmode switch valve

20 Blocking valve (opt.)

21 Steering unit 240/100 cm?3/U

22 Combi-cooler/oil side

23 Priority valve

24  Temperature control (55°C) (opt.)

25 Drive motor A6VM 107 HA1R2

26 Load switchgear

27 Campump 16 cm®U

28 Cam pump 38 cm?/U

29 Drive pump A4VG 90 DA2D8

30 Drive motor

31 Campump11cm?/U

32  Suction filter

33  Combined suction return filter

34 Elektrical contamination display

35 Hydraulic oil reservoir

36 Central braking unit (opt.)

37  Multiple disk brake

38  Directional control valve 1-way

39  Hydraulic swivel limiter (opt.)

40 Directional control valve 4-way

41 Lift height limiter (opt.)

42 Hydraulic tilt limiter (opt.)

43 Pilot pressure initiator main hydraulics
44 Stop valve main hydraulics

45 Stop valve auxiliary hydraulics

46 Pilot pressure initiator auxiliary hydraulics
47 Hydraulic tilt limiter (SA)

48 Parking brake valve

49 High pressure crossover circuit

50 Pressureless return circuit (opt.)

S150/S151/5152/S153/S154/2152 10-7





